
 

Lecture 11
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In calculus angles are always measured in radians

I radian angle that cuts off arc lengthequal to the
radius of a circle
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To convert degree o_0 radians
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Most valuesof sino and cos 0 are found using acalculatorbut we should certain values by heart which

can be found on the unit circle
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For finding tan 0 note that tomo_of since
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tan II to not defined

As you can see from the unit circle that sin 0 cos

tano etc takes both t've and i ve values To
remember where they take what kind ofvalues we can

use the CAST rule
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Trigonometric Identities

There are lotsof trig identities The most important0
One is
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Sum Difference of Angles
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GraphsofTrigFunctions
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As
you can see that the graphs of Sino cos and tano
starts repeating

Deff A periodic function is a functionfore such
that
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for some positive number a
a is called the period off

From thegraphs we see that

Sino cos0 are periodic with period 21T
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Also note from the graph that sino and cos reach
the maximum height of a unit
This is called the amplitude

In general if y Asin Beta d D or
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SolvingTrig Equations

e.g Solve for 0 D sin 20 cosO
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Sol 1 note sin 20 2sinocoso

P Isin cos also D cos 2Sino D O

cos0 0 or 2sino 1 0 i e sin 0 1
2

So cos0 0 0 D II If 321 SLI

since L D D IT Eft 13ft 17

Thus the soluteoie I

D
zy

K o 12

Kao I 1 I 2

If 2KIT KIO I 1 I 2

T IKI KIO I 1 I 2

So the point to remember is that find all solutions
0 in East and then take care ofthe repeats from
periodicity
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SineandCosine Laws

If we have any triangle g
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e.ge solve for the unknowns
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